HlsEs A RDE T OF AR [ 1 FAH]

[ 6 FEERILL | 7 BrREIRTE] 10 : 00~16:15 1 HH7=V

ENEEL | BEBiHE2 ENHEE 3 EANEE 4 ENEE S
1. B—ERFFICIES B A 676H 798H 922H 1, 0450 | 1, 1681
2. NI BN 40
3. — R R RN () 18H
4. JGBECEINR (1+2+3) X5. 9% 43H 51H 58M 65M 72H
5. FPELBLER (1+2+3) X1.2% 9H 10H 12H 13H 150
6 NM#ERBE—RT v FEIIEMEA 8H 9/ 11H 12H 130

(142+43) X 1.1%
HAHASH (1+2+3+4+5+6) 794H 926H 1, 061MH|1, 1938H| 1, 326H
il A RGBT ORI B [ 2 BIAHE]

[ 6 HEILA E 7 BERSoRTG] 10 : 00~16:15 1 HH7=V

ENEE 1 ENEE2 | ENEES | EN#EE4 ENEES
1. $—EAFAIRD B AR 1, 352H 1,596H 1,844 2,090H 2,336H
2. N Bh i 80
3. Y— AR TRV NS (1) 36M
4 WGBESCEENE (1+2+3) X 5. 9% 87H 101H 116M 130M 145M
5. BBIALE S E NG (142+3) X 1. 2% 18H 21H 24H 26H 29H
6 NHRMEER—RT v SR 16M 19M 22M 24MH 27H

(14243) X 1.1%
HOAHEEGE (1+2+3+4+5+6) 1,589H 1,853H [2,122H 2,386H 2,6 53H
sk A ALGE AT ORI EH: [ SEIAHE]

[ 6 BERILL | 7 BpREIRTE] 10 : 00~16:15 1 HH7=V

ENHEE 1 ENEE2 | BEN#EES | BENh#EE4 ENEES
1. F—ERFNRD B Ol 2, 028H 2,394 | 2,766M™ | 3,135 3,504
2. NI BINE 120H
3. H— b AFRAARHIBRLINEL (1) 54H
4 AGEBECENE (1+2+3) X 5. 9% 130M 152 173M 195M 217H
5. BRBIRLB S EINE (1+2+3) X 1.2% 26H 31M 35M 40M 440
6 MRk B _— 27T v S RINGE 24H 28H 32H 36H 40H

(14243) X 1.1%

HOAHEALE (1+2+3+4+5+6) 2,382H 2,779H (3,180H 3,580H 3,979H




HldEs A RDE T O e [ 1 FAHE]

[ 3EERILL | 4 FrfEIRTE] 10 : 00~13:15 1 HH7=V
ENEE 1 ENHEE 2 ENEE 3 ENEE 4 ENEES
1. F—E2FFIES H Al 4150 476H 538H 598H 661H
2. NI BN 40
3. — AR RN (1) 18H
4 AGBAEME (1+2+3) X 5. 9% 28H 32H 35H 39H 42H
5. Bl LB SENS (1+2+3) X 1. 2% 6 M 6 M 7H 8H 9H
6 MM AESEN—2T v 7RI EINE 5H 6 M 7H 7H 8M
(1+2+3) X1.1%
HOBHEESE (142+3+4+5+6) 512H 578H 645H 710H 778H
il A RGBT ORI B [ 2 BIAHE]
[ 3WLL | 4 FrRERT] 10 : 00~13:15 1 H®H7-Y
ENEE1 EN#EE 2 EN#EE3 EANEE 4 EANHEES
1. H—EAFAICERS H O AR 830H 952H 1,076M | 1,196H 1,322H
2. N Bh i 80H
3. Y— AR RGNS (1) 36H
4. WGBSCEINE (1+2+3) X5. 9% 56MH0 6 30 70H 77H 85H
5. BB E NG (142+3) X 1. 2% 11H 13H 14H 16H 17H
6 MRk B SR — 2T v T BINE 10M 12H 13M0 14H 16H
(14243) X 1.1%
HOoOa#mEeEr 1+2+3+4+5+6) | 1,02 3H 1,156H 1, 289M| 1,419H 1,556M
sk A ALEAT ORI EHS: [ SEIAHE]
[ SEERILL E 4 BERIRTE] 10 : 00~13:15 1 HH77=Y
ENEE 1 ENEE 2 ENEE 3 ENEE 4 ENEES
1. F—ERAFAIES H AME 1,245H 1,428H | 1,614H8 | 1,794H 1,983H
2. N 120M
3. Y— v RIRAARHI TR INE (1) 54M
4 AGEBECENE (1+2+3) X 5. 9% 84M 95M 105M 116M 127H
5. FRIALBIGE NG (1+2+3) X 1. 2% 17M 19M 21M 24M 26M
6 NMHEMEZER—RT v ST EINE 16H 18H 20MH 22H 24HM
(1+2+3) X1.1%
HOoaHmEeEr 1+2+3+4+5+6) | 1,545 1,734HM 1,934M | 2,130H 2,334




wET Y — e 2 O Ak [ 15A&E]

10 : 00~16 : 15 H%H

LR — e 2]

BXEL - @Y —E X1

BEXE2 - @AY -1

1. F—E2FRITRS B A 1, 672H 3, 428H

2. Y— R ERAARIRIL N (1) 88H 176M

3. ABYEENE (1+2) X5.9% 104MH 213M

4 REERGEBYENGL (1+2) X1.2% 21HM 43H

SNMHEMEEN—RT v 7 HEIRINA 19H 40M
(1+2) X1.1%

H OB E R (1+2+344+5) 1, 904H 3, 900/

TR — B X ORM AR [ 2 FIFHE]

10 : 00~16 : 15 H%H

BEXEL - BV —ERI BEXE2 - B X1
1. ¥—EXFRICHRS B C A 3, 344H 6, 856H
2. Y— A RREMATRITRILINE (D) 1760 352H
3. RUBHEEINR (1+2) X5. 9% 208M 425MH
4 EPERBSEME (1+42) X1.2% 42H 86M
5N BEN—AT v T ELENR 39H 79H
(1+2) X1.1%
HOAEAEFE (1+2+3+4+5) 3, 809M 7, 7T98H

AT Y — 2 OF| M [ 3EIAM]

10 : 00~16 : 15 HZ%HE

BEXE1 - BT -1 BEXE2 - BV - X1
1. = 2FHIRD B CAHEE 5, 016H 10, 284M
2. Y— e AR RN (1) 264M 528M
3. RUBHEEIE (1+2) X5. 9% 312H 638H
4 FELGBKENE (142) X1.2% 6 3H 130H
5Nk RGN — 2T v S EX BN 58H 119H
(1+2) X1.1%
HOAMESF (1+2+3+4+5) 5, 713M 11, 699M




